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-19  is a base 10 number.   What is its twos complement  representation ?
	      1
	    0
	   1
	  1
	0
	1


What is the advantage of ones complement representation over sign magnitude t representation?

	It doesn’t require a different algorithm to perform subtraction



What is a data type?

	A set of values and the operations that can be performed on those values


Given the following array and variable declarations, where the base address in decimal is 237 and the size of each element is 3 units, what is the address of   myArray[77] ?     ______237 + (77-24)*3 = 396______________________
type theArray = array [24..97] of integer;

var myArray : theArray;

